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2 S OIROHOI D
MM LoI2X| SR(ABI=R/ L0l - HAH)
el S EE 28 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OSIE RN (B, UH2) SRUER)
1,6192%1,000 £ *53| 8,095
OI&Z 3182 RRU(ZR)
1,8442%65  *1,4007 167,804
OUIIREEH 24|
8,624,0002 %23 17,248
OFSIE HAH| 120,000 %1 4! 120
O&3} LPG JIAEH 50,000 +4E 200
206 =] 1,050 875 175
01 XSl 1,050 875 175
OFt&Z 29 =
15,0002 *5Z+67H 450
OSIEZ 2|, HIZE)| 8E
50,0004+ 1221 600
301 YBEAZ 8,000 3,600 4,400
ERERNEE 8,000 3,600 4,400
OXYI2st QAN FoIEE
100, 00024 *40 % <23 8,000
401 A& HIL 2 0HY| 80, 135 80,135
01 Al&H] 80, 135 0 80,135
OFIEZ 0154 2EFHFA 43
45,000,000 % 14! 45,000
OSIRE AAANRA A% 2 SEHI|A =M
33,535,0002 % 14! 33,535
OSHHZ AAIFXE 2FHEI 242
800, 000 *2J A 1,600
IS 98,679,034 88,402,789 10,276,245
= 79,094,496
= 2,643,024
[ 3,376,965
Al 13,546,019
= 18,530
[IENESS 2,076,159 1,312,070 764,089
201 L2 A 38,919 15,770 23,149
01 AbR2t2IHI 28,919 15,770 13,149
OLQIAHASAH| 48
1,806,840, 00024 * 1% 18,069
OLQ=SXBA SBX AIHHIZ
70,0002 %374 2,590
OZEIEAAIE 2B FXIRINE| 39
70,0002 * 15 %23 2,100
ORI T NBAAIRIRS] MAF &
70,0002 x4 H*103] 2,800
OLoIgEs=soly 3o ¢
70,0002 x4 123 3,360
03 BAL2 | 10,000 0 10,000




2 S OIROHOI D
Hi: LOI=X| SX(ALSI2R/ L0 - HAH)
@l LolsXl & (CHo: X 2l)
SN - FE - SRI(EH) - AIRAMY - BN ol aro ] HIDE2
ORIl et 23t Ns
5,000,000 *23| 10,000
IEEEEE] 1,806,840 1,242,000 564,840
02 ALBI2HE S (FIAHS, XILHA) 1,806,840 0 1,806,840
OLQIAUSEH| X
7,00024%23, 9002+ 122 *90% 1,806,840
307 2I2H0I & 230,400 54,300 176,100
02 QIFAAAIIE X 176,000 11,000 165,000
Okolold J|E SHSE A KR (EXS HH)
5,00024%32,000 160, 000
OLQIF0|IMEXI(EEE HY)
5,000 *100E*223| 11,000
OSAHERl FHEAME(AS)AIY XR(EES
HoH) 50,0008 %50 x23] 5.000
04 QIZFSHAIAIRIE X 50,000 40,000 10,000
Ooliole JESAHEEE HA)
15,000,000 %274 A 30,000
O3l JE#AHBEE HH)
10,000,000& %13 10,000
Oolold J|E F4Lol HRAX(BXE HH)
10,000,000 %13 10,000
11 AL XAIE R 4,400 3,300 1,100
OROUE0l AL X2 E2|(EX8 BM)
40,00094* 1102 4,400
LCOIABIE S EOXIA 20,960 3,960 17,000
301 LEHEAS 3,960 3,960 0
IERERNEE 3,960 3,960 0
OLoI2ta A L WF &40
90,0002%22%*13] 1,980
O3 Fo|gs &40
90,0002 %22 1,980
307 2I2H0I & 17,000 0 17,000
04 QIZFHATAIZ B X 17,000 0 17,000
OLQ19] & I8 LOINSIHBHIS S (XS HH)
17,000,0002 %13 17,000
IR 71,989 54,643 17,346
101 Q124H] 2,309 0 2,309
SIEEEI RS 2,309 0 2,309
ORIZEEY o122
76,9602 52 x32 <23 2,309
201 L2 A 69,680 54,643 15,037
02 2Z29H| 69,680 54,643 15,037
OFIIQ2 1,900,000+ 122 22,800
Oaote=E AIE2Z 200,0002 %12 2,400
OtgAZH| 1,000,000 x5 5,000




2 S OIROHOI D
MM LoI2X| SR(ABI=R/ L0l - HAH)
el oIS S (G2 &)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
O+XelAE |2 29
100,0002 % 12 1,200
Oz KXY 200,00024% 122 2,400
OSOIHHIAAE AlRE
200,000 %122 2,400
O&EI|ot™ 22| 300,0002 %12 3,600
OAgorE 2te| 340,000 %122 4,080
OAEST 2 150,00024% 12 1,800
OAlZ & ZH| |XIH|
1,500,0002 * 122 18,000
OF=ssd FARA
500,000+ 122 6,000
(2)1x13 XS 83,304,617 74,229,408 9,075,209
= 74,977,535
[ 1,665,416
Al 6,661,666
IEEEE] 83,304,617 74,229,408 9,075,209
= 74,977,535
[ 1,665,416
Al 6,661,666
01 ALBIEREAFHS(ZDEXTH) 83,304,617 74,229,408 9,075,209
(OPJES =N 83,304,617,000R 14! 83,304,617
= 74,977,535
[ 1,665,416
Al 6,661,666
S EIEEESNEET 8,233,922 8,456,578 N222 656
= 4,116,961
[ 1,235,089
Al 2,881,872
101 Q124 451,627 716,949 N2B5,322
= 225,814
[ 67,744
Al 158,069
M JIR22IEES 451,627 716,949 N265,322
OLQAIBIES XY (MERIR]) 28,827
—=0 2,010,0002* 1 *122 24,120
= 12,060
[ 3,618
Al 8,442
—€x3 2,010,000 %1% 2,010
= 1,005
[ 302
Al 703
— XM A 2,697,000 %13 2,697




S COIEOfOID
H: LIS SA(ABISK/ 0l - HAH)
oel: ==X Sd (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
2 1,349
= 404
Al 44
OLQIAEIES XA (SUSSEOIX) 422,800
—astl 270,0002 %140+ 112 415,800
2 207,900
= 62,370
Al 145,530
—28s 7,000,000 %14 7,000
2 3,500
< 1,050
Al 2,450
206 M2t 18,200 34,500 16,300
2 9,100
= 2,730
Al 6,370
01 Ml 18,200 34,500 16,300
OLQIANEIES XA (BUSSHOIX LOHRHI)
130,0002140% 18,200
2 9,100
< 2,730
Al 6,370
307 BI2HOI™ 7,764,095 7,705,129 58,966
2 3,882,047
== 1,164,615
Al 2,717,433
05 2IRIEZ 7,764,095 7,705,129 58,966
OolgXiel L ABIZSXIAY
7.,764,095,0002!% 14! 7,764,005
2 3,882,047
= 1,164,615
Al 2,717,433
(BN SESHE] 390,000 390,000 0
< 47,000
Al 343,000
307 BI2H0IH 390,000 390,000 0
= 47,000
Al 343,000
05 RIZHRIES 390,000 390,000 0
ORIZH20F wQIUXI2IANY HEH| S X
40,000,000 14! 40,000
< 12,000
Al 28,000
OAlLIEE 29 350,000,000 %11 A 350,000




2 S OIROHOI D
Hi: LOI=X| SX(ALSI2R/ L0 - HAH)
el oIS S (G2 &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
< 35,000
Al 315,000
(2)coIUFEEENHIA 3,671,050 3,203,950 467,100
= 2,569,730
[ 330,396
Al 770,924
307 2I2+0|& 3,671,050 3,203,950 467,100
z 2,569,730
[ 330,396
Al 770,924
TEENNEEES 3,671,050 3,203,950 467,100
OLQIGEEZS MHIAAY XIS
3,671,050,000& %14l 3,671,050
= 2,569,730
[ 330,396
Al 770,924
(R)SHCUH NI ST AT AHIA 146,587 134,631 11,956
= 73,294
[ 21,988
Al 51,305
307 2I2H0I & 146,587 134,631 11,956
= 73,294
[ 21,988
Al 51,305
05 DIZIRIErS 146,587 134,631 11,956
OSH QI STOHMOIAINHIA 22 X8
146,587,000 %174 A 146,587
z 73,294
[ 21,988
Al 51,305
(C) RS IAYS 2L LR 2T| 109,200 109,200 0
[ 10,920
Al 98,280
307 2I2H0|& 109,200 109,200 0
[ 10,920
Al 98,280
11 AIBIE XA E X 109,200 109,200 0
OROIECQl HUSTHY U o))
109,200, 00024 14! 109,200
[ 10,920
Al 98,280
(C)Z2AYP2SAAY 399,360 318,240 81,120
[ 39,936
Al 359,424




SN L IEoNel
HE: Lol=X SA(AEISX/ L0 - HAaH)
oel: ==X Sd (CHo: X 2l)
S - B CRI(31) - AIRAIY - BAS 0 b ] ime=1
307 2I2+01 M 399,360 318,240 81,120
& 39,936
Al 359,424
11 MEISEXAIEE xR 399,360 318,240 81,120
OZzAld g4 399,360,000 14! 399,360
& 39,936
Al 359,424
() HSSBEMASTOH=CIA ALY 204,400 142,350 62,050
& 20,440
Al 183,960
307 2I2H0| M 204,400 142,350 62,050
& 20,440
Al 183,960
11 A2I=XAIEE X 204,400 142,350 62,050
ONs=2H HASMILEC! AABHE
204,400, 00024 14! 204,400
& 20,440
Al 183,960
(Z)olnaed 32,000 32,000 0
& 4,040
Al 9,430
= 18,530
307 2I2H0| M 32,000 32,000 0
& 4,040
Al 9,430
= 18,530
11 A2I=SXAIEE X 32,000 32,000 0
Okolua 24 4,000,00024%8J1 A 32,000
= 4,040
Al 9,430
= 18,530
(Z)ol2sEskA 5,790 5,559 231
= 1,740
Al 4,050
307 2I2H0| A 5,790 5,559 231
& 1,740
Al 4,050
11 Al =S XA E X 5,790 5,559 231
oYovosdil=Had
3,000,000 %114 3,000
& 900
Al 2,100
OYOYOSHEHSHAA
1,395,000 *2JH 2 2,790




2 S OIROHOI D
MM LoI2X| SR(ABI=R/ L0l - HAH)
©elr LoI=X S8 (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 840
Al 1,950
EEICEEEINNEIRNES 13,000 13,000
ENEEEET] 13,000 0 13,000
01 Al&H] 13,000 13,000
OUBH- Q15| FFAIKIE) HLUOHMRICH
13,000,0002* 14! 13,000
2& 2AAY 4,643,956 3,809,507 834,449
= 374,250
p) 265,817
[ 321,379
Al 3,682,510
22Y 29 1,564,920 818,644 746,276
201 LB 25,900 25,900 0
02 2229H| 25,900 25,900 0
OZ2Y MI|orE HA
70,0002 %3707H A*13] 25,900
301 L2 S 146,000 200,000 A54,000
02 A2 HEAHS(FAHS, NLHA) 146,000 0 146,000
OAIXIE & 231daY 29|
200, 00024 %207 243 16,000
OZ2Y 22| X
1,000,0002% 1307 A 130,000
307 2I2+0|& 208,020 202,744 5,276
02 QIIAAAIRIE R 49,630 49,630 0
OLopI2N=2A(EXS &)
70,0002%2714 A 18,970
OXFA2R=E2 X (EXS HH)
3,5002*365JH A 22+ 12 30,660
10 ALBIS XA L HESAHIE X 134,390 129,114 5,276
OJ2Y =3 T2 )2 22Xt AH(BXE HWM)
51,090
—Ql2d| 3,083,600+ 12128 37,004
—Al28= 37,003,200 * 10%+ 12! 3,701
—&st| 300,000+ 1%+ 12& 3,600
—E|xxg2 3,083,60024%1% 3,084
—HESIHI 3,083, 60024 +60%+ 1H*23] 3,701
OUBHQIB|FFAIXIG 2 (BEE FHH)
83,300,000 * 14! 83,300
11 AL XA B X 24,000 24,000 0
OZ2Y T2 ) XA(BXS8 HNH)
250,000 %20 7H A 5,000
OZ2Y U AU NS (BEE FH)
13,800,000 * 14! 13,800




A OIFOH Dt
I Lol=X| BR(AEISX/ L0l - HaH)
el 2 SIAMY (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZ2Y Hbl1s d=2 Na(2Ls 5%)
1,300,000 *43] 5,200
201 AIZEIZ 20 435,000 0 435,000
01 AIZH] 435,000 435,000
OdzY dx 22X
120,000, 000& * 101 2 120,000
Od2Y dlx 4 L BrolE89
45,000,000 *30H 2 135,000
O&dzY t=H 180,000,000 %11 A 180,000
402 DI2FAF=0[& 750,000 390,000 360,000
01 CRIFEAIS B (KA ) 750,000 390,000 360,000
OZ2Y B(Exs8 JN)
5,000,000 *807H 2~ 400,000
OZzE AF(BX8 )
350,000, 000&*1JH 2 350,000
(2)Z 2L 2| K& 748,500 764,035 15,535
= 374,250
& 112,275
Al 261,975
307 2I2t0| ™ 748,500 764,035 A 15,535
= 374,250
& 112,275
Al 261,975
10 A= XAIEEHE2IHIE X 748,500 764,035 15,535
OdZY dutgy] & =4 X1
748,500,000 *14] 748,500
= 374,250
= 112,275
Al 261,975
()82 X 993,700 1,001,400 AT7,700
& 99,370
Al 894,330
307 2I2H0| A 993,700 1,001,400 ANT,700
& 99,370
Al 894,330
10 M SXALHE2IHIEX 993,700 1,001,400 A7,700
odzg X 993,700,000 14! 993,700
& 99,370
Al 894,330
SN0 SSHF2AE M 85,000 0 85,000
301 Let8d3 60,000 0 60,000
02 MBI EE46I2(FHLHS, KILME) 60,000 60,000
O3 H=2E 29|
400,000 1004 2+ 12& 48,000




A EQIEOoHelI Dt
B LOI=X| EX(AIS=K/ 0 - HAE)
e d2Y MY (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O=s =0y gogl
200,000 *10JH 2 +62 12,000
402 QIZEXHE01 A 25,000 0 25,000
01 QI RH2 AL S (XIHITHE) 25,000 25,000
O3& HFYE NEEX(EXE FY)
10,000, 000 *2JH 2~ 20,000
O3 HFY SN (ExE FY)
2,500, 0002 *2H 2 5,000
(DANZEZ2YXNENUEA 6,600 10,200 A3,600
& 1,980
Al 4,620
301 LetBE= 6,600 10,200 23,600
L= 1,980
Al 4,620
11 HALAHIXIRZ 6,600 10,200 A3,600
OANZE2Y XNEAtuE XA
150,000& *44H 6,600
& 1,980
Al 4,620
(D)E2Y #HE-20| XA 886,054 705,228 180,826
Il 265,817
Al 620,237
307 212t01 & 886,054 705,228 180,826
| 265,817
Al 620,237
11 ARSI S XA E S 886,054 705,228 180,826
OZd2Y =20 NSASE
886,054, 0003 *14! 886,054
Il 265,817
Al 620,237
(2)=213 AZXe 43 X 10,000 10,000 0
& 3,000
Al 7,000
307 2I12t01 & 10,000 10,000 0
& 3,000
Al 7,000
11 AR S XA E S 10,000 0 10,000
OUEH=RI5IFFAIX S 2 E SRR
10,000,000 14! 10,000
& 3,000
Al 7,000
(Z)d=sd2Y 2Y 237,488 100,000 137,488
& 71,246
Al 166,242




SA: COIEOHOI D
M LoI=X| SX(AIEIZX/ L0l - HAH)
e d2Y MY (CHo: X 2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
307 QI2H0IA 237,488 100,000 137,488
[ 71,246
Al 166,242
1 ARRIEXAIEE X 237,488 100,000 137,483
Oog=ZzY 29 237,488,000+ 14! 237,488
[ 71,246
Al 166,242
(C)E2LOTHAUS ALY 111,694 0 111,694
[ 33,508
Al 78.186
402 QI2FRH20( ™ 111,694 0 111,694
[ 33,508
Al 78.186
02 QIZF A=A B (01 E TN ) 111,694 0 111,694
OB2L OHEMHASEIALY
111,694, 0002 *1A! 111,694
[ 33,508
Al 78.186
ABIZXAIE XA 13,353,163 12,544,926 808,237
= 38,060
[ 3,917,084
Al 9,378,019
= 20,000
NEENERE 1,551,903 1,131,620 420,283
301 YBHEEZ 340,080 48,360 291,720
02 ABIEEESFHS(FLAHS, TLHY) 52,080 0 52,080
OYE L Y ABI=XAIE MER} 92
14,0002* 1,240 +33) 52,080
03 ALS|BE A5 S (XL ) 288,000 0 288,000
OZ) QUL BAHK £ X2
30,0002+800H * 123 288,000
307 BI2H0IA 1,211,823 1,083,260 128,563
05 QIIQ[ERZ 1,015,023 985,460 29,563
oLo=Exz 2941
1,015,023,00024% 1H A 1,015,023
1 AlBIE XA B X 196,800 97,800 99,000
OLQIRESEMUIASAK DEH N (BXS
o) 100,0002 % 1642 * 122 196,800
BEENEEENEIEENS) 1,067,000 969,713 97,287
[ 733,000
Al 314,000
= 20,000
307 BI2HOIA 1,067,000 969,713 97,287
[ 733,000




SA: IR eI}
M LoI=T| ZF(AIBI=XI/ L0l - HAE)
el AlRISXAE X3 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
A 314,000
= 20,000
05 DIIsIED 1,067,000 99,713 97,287
OYRAE 29 X
1,067,000, 000241742 1,067,000
= 733,000
Al 314,000
= 20,000
(E) I = AL S 200,000 200,000 0
= 20,000
Al 180,000
307 QI2f01A 200,000 200,000 0
= 20,000
Al 180,000
NEE e EIEES 200,000 200,000 0
OMIH-QI=RIAIE 2
200,000, 0002%1H A 200,000
= 20,000
Al 180,000
(D) RPN S0UIE N 9,533,290 9,539,113 5,823
= 2,859,967
Al 6,673,303
301 JHRAD 9,533,290 9,589, 113 15,823
= 2,859,967
Al 6,673,303
03 A EEE 0= (N Z ) 9,533,290 0 9,533,290
OFIIRYIIZ S0iHIS X2
9,533,290,000%4* 14! 9,533,290
= 2,859,967
Al 6,673,303
(D)W BEI2R SIS 246,850 0 246,850
= 74,055
Al 172,795
301 IR 246,850 0 246,850
& 74,055
Al 172,795
08 NI EEE 0= (N Z ) 246,850 0 246,850
OB SZAN 201Ul X
248,850, 0002+ 14! 246,850
= 74,055
Al 172,79
()= =R A 678,000 669,480 8,520
= 203,400
Al 474,600




A LOIZROID
M LoI=X| SX(AIEIZX/ L0l - HAH)
SR ASISXIAIE XA (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
301 YBrFH= 678,000 669,480 8,520
[ 203,400
Al 474,600
03 A BEESFS (XL ) 678,000 0 678,000
OLQI=XIAIL SAR 28 X2
678,000, 0002 *1A! 678,000
[ 203,400
Al 474,600
()AL [ZCCTVAH 76,120 0 76,120
= 38,060
[ 26,642
Al 11,418
402 QI2FRH20( ™ 76,120 0 76,120
= 38,060
[ 26,642
Al 11,418
02 QIZFXHEAIS B (01 E ) 76,120 0 76,120
OZI| QT ZICCTVAIZ (21944 )
76,120,000 % 14! 76,120
= 38,060
[ 26,642
Al 11,418
ol EXNEX(ABIZX/FHAHEXL) 34,619,399 29,724,893 4,894,506
= 18,728,914
[ 4,108,569
Al 10,465,176
= 1,316,740
0Hol =X=E 34,619,399 29,724,893 4,894,506
= 18,728,914
[ 4,108,569
Al 10,465, 176
= 1,316,740
P IES NS INE] 291,722 268,680 23,042
201 2Bt 57,222 40,680 16,542
01 At22eld| 57,222 40,680 16,542
OFOHQ K EREX 7L
1,3002*10Z+500H 650
OZfIME=ITY 82 MK
530, 0002 *1A! 530
OFNQSESKR £TXRAICIQR AAF 2E
70,0002 6% 123] 5,040
OZOHQIEHH AtRal ARtE X
497 0002 *8IH A 122 47,712
OZOHQIBOIAHA Q2 L AIMAAIRSE 2&
70,0002 x62x23] 840




A LI E eIt
mE: mOjOl XS (A=K HHEXR)
ol HoHel sSKISE (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OA=I=X S3AH &1 XIZ
70,0003 %351 2,450
301 LEt8d32 8,500 8,500 0
02 MBI EE46I2(FHLHS, KILM) 8,500 0 8,500
OWAZL! =M4KI3S XN 8,500
—Z&0f B3I Alst oLl
1,500, 000&*3H 4,500
—Z0i EIOF AGHA 22 HAEOHe!
1,000,000 x4H 4,000
307 2I2H0| ™ 210,000 192,000 18,000
10 MRISXNALHE2IHIEX 175,000 157,000 18,000
OZZHL 0ISA KJA(EZE HNH)
45,000,000 * 1042 45,000
OFORI=ZNE SHAL KB (2XS o)
80,000,000 *1JH 4 80,000
OAIFE R XH20ISAIY XA (EEXE &
o) 50,000,000 * 1042 50,000
11 MSISEXAIEE xR 35,000 35,000 0
OAIZIEONC! THEAMHIAMS(BEXE HH)
7,000,000 * 10 A 7,000
O&0IESHE +0|D4 2A(2ES HoH)
8,000,000&*10H 2 8,000
OFL! H Jsns XNA(BEEE8 HH)
20,000,000 *1JH 4 20,000
401 Al&HIZ L0 16,000 27,500 211,500
01 A&t 16,000 27,500 211,500
OFHel MSEEF EEHL X
,000, 000& *2JH 2~ 16,000
HOCI s 2,880 2,880 0
301 BtEd3 2,880 2,880
11 HAAHIXIRZ 2,880 2,880
Ol s &4a ol XA 2,880
—&OHCIXIE A s & 0|
90,000&+169 1,440
—ZojeI=X2e Wws 4 0|
90,0003 +164Y 1,440
ZOHCIHALKI A 72,120 65,620 6,500
301 LBENS 6,120 6,120 0
11 HARRHIXIES 6,120 6,120 0
OZ I A &AL o] XA 6,120
—Z0Helel & AL A odd]
90,0003 +164Y 1,440
—ZoHeIAHE &4 0dd|
90,0003 169 1,440
—ZOCITHESEINE &4 ol
90,000+ 16H 1,440




2 S OIROHOI D
I ZOHel SRSI(ALRSX/FHLHSKIH)
el Zojel SASH (Crel: &)
S - B B (BIH) - HISAKY - BAS ofl Ao ] HIS2
—HOHQIEHHYR 2TE =HA o]
90,0008%20%H 1,800
307 2I2H0| & 66,000 59,500 6,500
11 ALBIE XA E X 66,000 59,500 6,500
OFOHRIol & JISHAHETE HH)
15,000,000 * 14! 15,000
OZFAl HoHe! SOFSHSUS(EXE FAH)
18,000, 00024+ 14! 18,000
OLEZEOQ FIDIB AINMAIL(BEE HH)
3,000,000 % 14! 3,000
OXHMEOHAINBANHUNS (BXE HH)
9,000,0002 % 14! 9,000
OYFAl ZHOHQI H2HA5H AL 21,000
— AI2HEHOHQ! H2FAS AFH(EXS HH)
4,000,000 % 14! 4,000
—EIXZOol2 & MAHEXE HH)
4,000,0002 % 14! 4,000
— XA eEofel X122l =HUS(EX S 80%)
6,250, 0002 * 1A*80% 5,000
— =010l 2kAst AI(EERE Ho)
4,000,0002* 14! 4,000
—AIEEOHQ! SXICHE) L HAADILHEES HH)
4,000,000 * 14! 4,000
PP EE] 1,440 1,440 0
301 BB 1,440 1,440
11 #AFAHIXI S 1,440 1,440 0
OFOHRIIISZIIHE] &It oH| X2
90,0002+ 162 1,440
AFSIEXIAF MMM 75,600 75,600 0
301 LBIEAZ 75,600 75,600 0
03 ALBI 2R E 2GS (XILTHH) 75,600 0 75,600
OXOHQIZRIAIE L Ml ABIZRISAHL 24
140,000 %45+ 122 75,600
(2)E0f A2l K (EXLR2) 472,425 412,148 60,277
= 236,212
[ 70,864
Al 165,349
307 2I2+0| & 472,425 412,148 60,277
= 236,212
[ 70,864
Al 165,349
05 QItES 472,425 412,148 60,277
OZOHQI= X 2L X2l AFY
472,425,000 % 14! 472,425
= 236,212
[ 70,864




S COIEOfOID
HH: FORQ SXBE(AEIEX/FHAHSKI)
el Zojel SASH (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| Al 165,349
EENEEERNEIEE ) 634,354 520,400 113,954
2 317,177
< 95,153
Al 202,024
101 IAH] 634,354 520,400 113,954
2 317,177
= 95,153
Al 202,024
04 JRIH2ENEES 634,354 520,400 113,954
OFOHOIUBHHATI2| A
634,354, 00024+ 14! 634,354
2 317,177
= 95,153
Al 202,024
(2)ZOHIZ R K& (ARFHIZRI2I) 158,626 124,150 34,476
2 79,313
= 23,79
Al 55,519
101 1] 158,626 124,150 34,476
2 79,313
== 23,79
Al 55,519
04 JRIH2Z2XSE 158,626 124,150 34,476
OROHQILBHS (AR +x1|) AXtel Al
158,626, 000214 158,626
2 79,313
= 23,794
Al 55,519
EF=EEIINE] 5,076,746 4,898,386 178,360
2 3,563,722
== 456,907
Al 1,066, 117
301 LBHEXZ 5,076,746 4,898,386 178,360
2 3,553,722
= 456,907
Al 1,066, 117
SN EEEER I ENEESE) 5,076,746 4,898,386 178,360
O&oeld=z XA 5,076,746,00020*1 Al 5,076,746
2 3,553,722
< 456,907
Al 1,086,117
EEES=PEIINE 755,502 456,629 298,873




SA L OIEOROI D}
M TRl XIS (ALSISX/HAHSKIA)
o2l Hojel =XSH CEEEED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
= 528,852
= 67,99
Al 158,655
301 YBrF A= 755,502 456,629 298.873
2 528,852
= 67,995
Al 158,655
01 AFIBEELF2(ZREEME) 755,502 456,629 298,873
O™ON2S(IIE) X
755,502,000 *14] 795,502
2 528,852
= 67,99
Al 158,655
(2)ZHTY (IS S) A= 399,738 365,600 34,138
2 279,816
= 35,976
Al 83,946
301 YErg A 399,738 365,600 34,138
2 279,816
= 35,976
Al 83,946
e EENEESTE)) 399,738 365,600 34,138
ORONLSH(RAR) X
399,738,000 % 14! 399,738
2 279,816
= 35,976
Al 83,946
()2 HENAZ A 7,981,880 5,979, 19 2,002,685
2 5,587,315
= 718,370
Al 1,676,195
307 CIZHO[A 7,981,880 5,979, 195 2,002,685
2 5,587,315
= 718,370
Al 1,676,195
05 DIZISE2 7,981,830 5,979, 19 2,002,685
OO SBEXAZ0(HIRH)
7.981,880,00024 14! 7,981,880
2 5,587,315
= 718,370
Al 1,676,195
(2)FEEZ JH30] 76,622 40, 184 36,438
2 53,636
= 6,89




A olEoHl Dt
Do Dol =XSA(ASI=K/FHHENR)
el Zojel SASH (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 16,090
307 2I1Zt0] & 76,622 40,184 36,438
= 53,636
& 6,8%6
Al 16,090
05 QIZtRIEZ 76,622 40,184 36,438
OFOHO! ESEX IS0 (HIRA)
76,622,000 * 14! 76,622
= 53,636
& 6,8%
Al 16,090
(=) LLTHE MBI ABIRH X2 343,777 302,400 41,377
= 240,644
& 30,940
Al 72,193
307 2I2t0| ™ 343,777 302,400 41,377
= 240,644
& 30,940
Al 72,193
05 QI”IRIE = 343,777 302,400 41,377
OZETHEMHIA(BIRH)
343,777,000& 14! 343,777
= 240,644
& 30,940
Al 72,193
(D)LLEHF2UHESMHEIAXIA 1,315,779 903,872 411,907
= 921,046
L= 118,420
Al 276,313
307 2I1Z2t0] & 1,315,779 903,872 411,907
= 921,046
& 118,420
Al 276,313
05 QIZIRIEIZ 1,315,779 903,872 411,907
Ol FABSHHIA X2
1,315,779, 00021 4! 1,315,779
= 921,046
= 118,420
Al 276,313
(=)ol NSESSMHEIAXIA 147,991 105,514 42,477
= 103,593
& 13,320
Al 31,078
307 glztold 147,991 105,514 42,477
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A olEoHl Dt
Do Dol =XSA(ASI=K/FHHENR)
S HOHe! =XISE (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 630
01 A EEE6IZ(FLE2ZMR) 3,000 5,000 A2,000
OW&ZHL! S4tHIE XI&
1,000,000&*3H 3,000
= 2,100
< 270
Al 630
(2)ZOoHeIClZHI XA 148,944 207,479 258,535
= 119,155
& 8,937
Al 20,852
308 RtXISHHMSOIE 148,944 207,479 ADB8,535
= 119,155
& 8,937
Al 20,852
11 I 2SHCHSHE A X LAEAISH] 148,944 207,479 258,535
O™l 22H X
148,944,000 & * 14! 148,944
= 119,155
L= 8,937
Al 20,852
(D) HIE=2xXHA 709,300 229,715 479,585
& 141,860
Al 567,440
307 2I12t01 & 709,300 229,715 479,585
& 141,860
Al 567,440
05 QIZtRIEZ 709,300 229,715 479,585
oFofelgsEx FIt X
709,300,000& 14! 709,300
= 141,860
Al 567,440
(Z)Z0HQIE SIOlIA 2HHA)| B2 4,200 4,200 0
& 1,260
Al 2,940
301 Let8&EZ 4,200 4,200 0
& 1,260
Al 2,940
03 AISIEE X >EIS (KIS THA) 4,200 0 4,200
OXHeIZ SIOIAZHSHYD] B3
4,200,000 *14! 4,200
& 1,260
Al 2,940
(Z)s0ISEAEQASSKIR 15,647 11,520 4,127




A EQIEOoHelI Dt
Do Dol =XSA(ASI=K/FHHENR)
S HOHe! =XISE (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 2,347
Al 13,300
307 2I12t01 & 15,647 11,520 4,127
& 2,347
Al 13,300
10 MBI SXALHE2IHIEX 15,647 11,520 4,127
solszAgen 2EX
15,647,000 14! 15,647
& 2,347
Al 13,300
(S)XNEEOHXAHH2 Y 150,000 150,000 0
& 30,000
Al 120,000
307 2I2t0| ™ 150,000 150,000 0
= 30,000
Al 120,000
10 AlSIZXNAIEEHE2ZHIEE 150,000 150,000 0
OXIEEOQIX HIE] 2
150,000, 000& * 100 A 150,000
& 30,000
Al 120,000
() EOHOIBOIAEESRIXIA 130,000 130,000 0
< 26,000
Al 104,000
307 2IZt0 & 130,000 130,000 0
& 26,000
Al 104,000
10 MSXNAEHESSHIEX 130,000 130,000 0
OHHRIEIALZRIRAME 2S
130,000, 000& * 104 2 130,000
& 26,000
Al 104,000
(Z) EOHISXIXIJ AL 563,000 515,000 48,000
& 112,600
Al 450,400
307 2I2t0| ™ 563,000 515,000 48,000
L= 112,600
Al 450,400
10 M SXALHE2IHIEX 563,000 515,000 48,000
OUSAIDMLAEAIS
130,000, 000& * 100 2 130,000
& 26,000
Al 104,000




2A: QIR0
BE: Tojol SXISE(ASISX/HAHET)
o2l Hojel =XSH (crol: Ml
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OF QI E 2 KIR A
90,000,000 * 1042 90,000
& 18,000
Al 72,000
OUEEHOISE A AIS
50,000,000 *1JH A 50,000
& 10,000
Al 40,000
OXIXMIZ0H ! O & AHE K12 AHY
68,000,000 *1JH A 68,000
& 13,600
Al 54,400
OXIMZ OIS XX AAS
55,000,000 *1JH 4 55,000
= 11,000
Al 44,000
ORI HUXIRALS
50,000,000 * 1042 50,000
& 10,000
Al 40,000
ORIl IHH E 2 ) SHKIR
40,000,000 170 2 40,000
& 8,000
Al 32,000
OR4F0) QI THEHKI 2 ALY
80,000,000 *1JH A 80,000
& 16,000
Al 64,000
(Z)AIZIEHEOHCI DI XIR AL 55,000 55,000 0
= 11,000
Al 44,000
307 2I2H0| M 55,000 55,000 0
& 11,000
Al 44,000
10 M SXALHE2IHIEX 55,000 55,000 0
OLIEHE OIS X ALS
55,000,000 * 1042 55,000
= 11,000
Al 44,000
(SN2 AR OO B A AR 50,000 50000 5
& 10,000
Al 40,000
307 2I2H0| A 50,000 50,000 0
= 10,000
Al 40,000




A olEoHl Dt
B MRl XS (ASI=X/FHETE)
S HOHe! =XISE (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
10 AL =SXAIESHE2IHIE X 50,000 50,000 0
OAITIZONOI T EHA S A2
50,000,000 *1JH A 50,000
= 10,000
Al 40,000
(Z)AIZ2EOHIDISXHEH 2 160,000 156,000 4,000
& 32,000
Al 128,000
307 2I2+0| M 160,000 156,000 4,000
& 32,000
Al 128,000
10 MSXNAEHE2SHIEX 160,000 156,000 4,000
OZOCIDIEXANEH 29
160,000, 000& * 100 2 160,000
& 32,000
Al 128,000
(=) SO AL Z ORI 81,447 84,788 A3,341
= 57,013
= 7,330
Al 17,104
307 2I2H0| M 81,447 84,788 A3,341
= 57,013
& 7,330
Al 17,104
10 M2ISXALHE2IHIEX 81,447 84,788 A3,341
OWEEONC! At2IEEH IR
81,447 0002 %1 Al 81,447
= 57,013
& 7,330
Al 17,104
(2)ZOHUHFAIE D152 17,820 241,862 N224,042
= 8,910
& 6,237
Al 2,673
402 2I2tXH201 ™ 17,820 241,862 A224,042
= 8,910
& 6,237
Al 2,673
02 QI X EAISE (01X THEA) 17,820 241,862 A224,042
OOl HFAA JIsEZ(HAFYE)
17,820,000 * 170 A 17,820
= 8,910
= 6,237
Al 2,673




A olEoHl Dt

Do Dol =XSA(ASI=K/FHHENR)

?l: Zoie!l SXSA (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(2)EAQYAE 2HXA 2,340,000 1,958,748 381,252

= 1,638,000
& 702,000
307 2I12t01 & 2,340,000 1,958,748 381,252
= 1,638,000
L= 702,000
10 M2SXAEHESSHIEX 2,340,000 1,958,748 381,252
OHAQUAL 2¢
2,340,000,000& * 142 2,340,000
= 1,638,000
& 702,000
(DEOAFAIE 2 XA 7,130,686 6,204,430 926,256
= 4,991,480
& 641,762
Al 1,497,444
307 2I1Z2t01 & 7,130,686 6,204,430 926,256
= 4,991,480
& 641,762
Al 1,497,444
10 MASXNAEHE2SHIEX 7,130,686 6,204,430 926,256
OO H=AIE 2
7,130,686,000& 14! 7,130,686
= 4,991,480
= 641,762
Al 1,497,444
()ZOHAUAFAIE BIIHEIHERIR 3,763 3,712 51
= 2,258
= 452
Al 1,053
307 212t0]1 & 3,763 3,712 51
= 2,258
= 452
Al 1,053
11 A S XA E R 3,763 3,712 51
OZHLIANFAIE BIIFED| dEXA
1,881,500 & 204 2 3,763
= 2,258
& 452
Al 1,053
() ZOHAUAHFAIEE AR KIS MEH=Z XA 10,000 10,000 0
& 3,000
Al 7,000
301 LetEE= 10,000 10,000 0
L= 3,000




A LQIEof oI
I 0N XS (ALSIZX/FHLHSKI)
el Zojel SASH (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 7,000
03 ALBI 2R =2 (XILTH) 10,000 0 10,000
OZOHQIHFAIE EIAK XBME H=3
10,000,00084%1%4 10,000
[ 3,000
Al 7,000
(Z)ESZONARR A HE S ALY 229,955 230,200 N245
[ 36,333
Al 193,622
307 2120 A 229,955 230,200 245
[ 36,333
Al 193,622
05 QIZtEr2 229,955 230,200 N245
OZZIH NILXIRME 2F
229,955,000+ 170 A 229,995
[ 36,333
Al 193,622
(D) ABIETAIE B AR L 65,520 61,200 4,320
[ 19,656
Al 45,864
301 LBHEXZ 65,520 61,200 4,320
[ 19,656
Al 45,864
REEEERSEINENE) 65,520 0 65,520
OABIZTIAIE SAR 2 FAQUAIA) 65,520
—dd=g 100,0002*39% » 12 46,800
[ 14,040
Al 32,760
— X2 40,0002139%+12& 18,720
[ 5,616
Al 13,104
BEIEENREE S 389,760 339,600 50, 160
[ 116,928
Al 272,832
301 LBHERS 389,760 339,600 50, 160
[ 116,908
Al 272,832
RIEEEEPSEINENE) 389,760 0 389,760
OFOHOISXIAIE BAK
389,760,000 % 14! 389,760
[ 116,928
Al 272,832
BEIEPENENREESNE] 133,333 133,333 0




A olEoHl Dt
Do Dol =XSA(ASI=K/FHHENR)
el Zojel SASH (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 20,000
Al 113,333
307 2I12t01 & 133,333 133,333 0
& 20,000
Al 113,333
10 ASIZXAIEEHE2IHIE X 133,333 133,333 0
OZOIMIIE X SAHIE 29
133,333,000 * 170 A 133,333
& 20,000
Al 113,333
(Z)ERIFAHES ALY 373,742 341,924 31,818
& 63,536
Al 310,206
307 2I2t0| ™ 373,742 341,924 31,818
= 63,536
Al 310,206
10 AlSIZXNAIEEHE2ZHIEE 373,742 341,924 31,818
ORQIFHZBAIL 2
186,871,000& %201 A 373,742
& 63,536
Al 310,206
(DIAZH I BE=R22Y 1,336,740 1,297,800 38,940
< 20,000
= 1,316,740
307 2IZt0 & 1,336,740 1,297,800 38,940
& 20,000
= 1,316,740
05 QIZtRIEI S 1,336,740 1,297,800 38,940
O&eIsE=X2 24
1,336,740,000& 14! 1,336,740
& 20,000
= 1,316,740
() ZOHOIMEO | SAIAME 2Y 244,089 231,808 12,281
& 48,818
Al 195,271
307 2I2t0| ™ 244,089 231,808 12,281
L= 48,818
Al 195,271
10 M SXALHE2IHIEX 244,089 231,808 12,281
OZHIMEOISAIRANME 2
244.,089,000& * 101 2 244,089
L= 48,818
Al 195,271
(Z)=0SHHEH2E 236,573 229,097 7,476




A olEoHl Dt
Do Dol =XSA(ASI=K/FHHENR)
el Zojel SASH (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 40,218
Al 196,355
307 2I12t01 & 236,573 229,097 7,476
& 40,218
Al 196,355
10 MBI SXALHE2IHIEX 236,573 229,097 7,476
O40IZ e 2o
236,573,000 * 10 A 236,573
& 40,218
Al 196,355
(Z) BRI AATHEAI L2 1,406, 159 1,344,298 61,861
& 196,862
Al 1,209,297
307 2I2t0| ™ 1,406, 159 1,344,298 61,861
= 196,862
Al 1,209,297
10 AlSIZXNAIEEHE2ZHIEE 1,406, 159 1,344,298 61,861
OBHOIHTIEAL 22
1,406, 159, 0002 14! 1,406,159
& 196,862
Al 1,209,297
(Z)EOHOIHZAIE MUIAXIR 25,350 23,400 1,950
< 7,605
Al 17,745
307 2IZt0 & 25,350 23,400 1,950
& 7,605
Al 17,745
11 A S XA E S 25,350 23,400 1,950
OTOHIMEAE LT SXMEIAKIR
25,350,000 14! 25,330
& 7,605
Al 17,745
(S)ZOHRIAFAIE 2 339,230 335,780 3,450
& 67,846
Al 271,384
307 2I2t0| ™ 339,230 335,780 3,450
L= 67,846
Al 271,384
10 M SXALHE2IHIEX 339,230 335,780 3,450
OTOUIHFAIE 2
339,230,000 & * 1002 339,230
L= 67,846
Al 271,384
(Z)ZOHIHFAILOISRICIA DS 2,700 2,700 0




L OIEOH O It
oMol = AIZT(ABI= T /3N EXIR)
Zojel SASA (G2 &)
S - ZE - SI(SH) - MIRAR - BES ] B2t
& 810
Al 1,890
307 2I12t01 & 2,700 2,700 0
& 810
Al 1,890
11 A S XA E R 2,700 2,700 0
OBOJRIHFAIL OIEX ol DR
300,000 & *9IH 2~ 2,700
& 810
Al 1,890
()OI IHZ=AIE2Y 400,060 388,410 11,650
& 80,012
Al 320,048
307 2I2t0| ™ 400,060 388,410 11,650
= 80,012
Al 320,048
10 AlSIZXNAIEEHE2ZHIEE 400,060 388,410 11,650
OQZOUINHFAIL 2T
400,060,000& * 142 400,060
& 80,012
Al 320,048
(Z)BAQLUA LA AR 4ZH| 9,100 9,100 0
< 2,730
Al 6,370
307 2IZt0 & 9,100 9,100 0
& 2,730
Al 6,370
11 A S XA E S 9,100 9,100 0
OFULQAAILUATL 2JA4E XI&
65,0002+ 140 9,100
& 2,730
Al 6,370
() ZONQIB oI A S A EH R 2= T A 35,904 0 35,904
& 10,774
Al 25,130
101 2124d| 35,904 0 35,904
& 10,774
Al 25,130
04 JIZtMIZZ2 XS E+ 35,904 0 35,904
(O2023Z0H I EH 2 Al A EHE 5= A
35,904,000 14 35,904
& 10,774
Al 25,130
2R (LI ZO0HCI D) (JIEH/ JIEL) 133,715 126,530 7,185




A QIR
M HHSHAHI(=QIZO0HID) (IIEHIIEH
s 1523 (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
ol 2| 52,981 52,212 769
REEEET 52,981 52,212 769
101 o124] 52,981 52,212 769
03 B2 (PIIHY) 22 HES 52,981 52,212 769
O3 (DIAH) 22X 24 52,981
—-J|=3(552) 2,036,210+ 12128 24,435
—HEEIH| 2,036, 2102 %12 #25|%75% 3.0%
—H24Y 2,036,210 %124%25|*10% 408
—IJIESE ()
40,0002 * 112 480
—AlZtI2R4g
12,1892%150%+ 15A1 2+ 1+ 122 3,292
—§24224%
97,51224% 1500+ 12 * 1162 16,968
—AXIE I 97 510911 * 152 1,463
—Zoigall| 140,000 *1H* 122 1,680
—wESEXH| 100,000 %1 H* 122 1,200
DIEEEE] 80,734 74,318 6,416
DIE=E=E] 80,734 74,318 6,416
201 LB 21,094 18,638 2,456
01 AtR2t2|H 21,094 18,638 2,456
O=AMEX 7 20,000 %148t Ax 122 3,360
OSZ0H4AY| 8,000 *6A!x 143 x 122 8,064
Ot 100,000 %12 1,200
OARE TA7PUH| 50,00024% 122 600
OARSZ $4H 7,030
—=Z A =2l 1,000,000 *1CH 1,000
—ZelEIl =l 100,00024*3CH*50/100 150
—=2A0| EY 200,0002 %53 *1CH 1,000
—IEIED(EH) £
200,000 %53 *3CH 3,000
—IRIEDI(~a) EY
200,000 %53 1CH 1,000
—PC =2l 100,000 14CH*20/100 280
—J|Et==2lHl 50,0002 122 600
OJIEt AFR2t2IY] 5,000 14122 840
202 OFHl 55,440 51,480 3,960
EXCE 55,440 51,480 3,960
(@8 [¢:]:] 20,0002 142122+ 122 40,320
O 04| 90,000 %143+ 122! 15,120
203 LRI 3,000 3,000
04 EN2IAREZIH| 3,000 3,000 0
ORAN2IARETH| 250,00084% 122 3,000
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